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This paper consists of seventy five multiple-choice type of
questions.

At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
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space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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PHYSICAL EDUCATION
PAPER - III

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.
1.  Pierre de coubertin was president of the I.O.C. from :
(1) 1896-1925 (2) 1894-1923 (3) 1898-1927 (4) 1895-1924
2. Which of the following class of drug is used medically to relieve pain and anxiety ?
(1) Barbiturates (2) Opiates (3) Cocaine (4) Hallucinogens
3. If the unit for force is F, the unit for velocity is V and the unit of time is T, then the unit for
energy is:
(1) FVT (2) FV/T (3) FV/T? (4) FVZ/T2?
4.  That the things most recently learned are best remembered refers to :
(1) Law of intensity (2) Law of primacy (3) Law of effect (4) Law of recency
5.  Which of the following is a characteristic of the sport education curriculum model ?
(1) Practice of closed skills is considered more important than practice of open skills
(2) Cognitive, social and emotional skills development is emphasized over physical skill
development
(3) The choice of skills and when to teach them is based on individual readiness rather
than age-gaps. generalizations
(4)  Skill practice takes place in sequential, progressive, game like situations
6.  Milk transmits all except :
(1) Endemic typhus (2) Q fever (3) Typhoid fever (4) Brucellosis
7.  The ability of the organism to meet the demands of the environment is called :
(1) Fitness (2) Health (3)  Wellness (4) Endurance
8.  The regression lines cut each other at the point of :
(1) Average of Xand Y (2) Median of X only
(3) Median of Y only (4) Median of X and Y
9.  Generalized Equation for converting Body Density to % Body fat is :
(1) % Fat=(459/Body Density) —450
(2) % Fat=(Body Density/459) —0.450
(3) % Fat=(0.450/Body Density) —0.459
(4) % Fat=(Body Density/0.450) —459
10. The correct reverse order of the types of management in sports are as follows :
(1) Laissez Faire, Democratic, Authoritarian, Eclectic
(2)  Eclectic, Democratic, Laissez Faire, Authoritarian
(3)  Authoritarian, Laissez Faire, Democratic, Eclectic
(4) Democratic, Authoritarian, Eclectic, Laissez Faire
g
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11.

12.

13.

14.

15.

16.

17.

Calculate the T-score of score 24, if the Mean of scores is 22.75 and standard deviation is
1.25.
(1) 60 (2) 40 (3) 30 4) 20

The objectives of Physical Education are :

(a) Organic development

(b) Health development

(c) Social development

(d) Academic development

() Emotional development

Find the correct combination :

1) (), (b) ©), (@ 2 © @) (@), @

3) (b)) (@) (e 4) (@), @, b), ©
Which of the following are not the factors influencing contraction ?
(a) Strength of stimulus (b) ATP

(c) Muscle tone (d) Duration of stimulus
Find the correct combination from the following codes :

1) (), () @ @ () B) © @ ) @ ©
Which of the following are not a scalar quantity ?

(a) Energy (b) Impulse (c) Mass

(d) Work (e) Torque (f) Momentum
Codes :

(1) (@ (dand () (2) () (e)and () (3) (c) ()and (a) (4) (d) (a)and (b)

For the assessment of personality by projective technique which of the following are used :
(a) Word association and sentence completion

(b)  Checklist and rating scale

() The Thematic Apperception Test

(d) Observation

Select the correct answer :

1) @and(@© ) Gand(d) () @and(®) (4 (O and (d)
Find the correct pancreatic juice action :

(a) Amylopsin acts on carbohydrate (b) Invertase acts on protein

(c) Steapsin acts on fats (d) Typsin acts on sucrose

Codes :

(1) @and(®) (2 (Gandd  (B) @and(©  (4) (a)and (d)
Formula for calculating scores in decathlon events, if ‘P’ is the performance of an athlete :
(a) For track events=A X (B—P)C (b)  For field events=A x (C—P)B

(c) For track events=Bx (A —P)B (d) For field events=A x (P—B)C
Find the correct option using the codes given below :

1) (), () 2 (b) (© () @) @ () (b), (@

gl T .



11. 24 YTeAish & ‘21’ UTieh i UM R AR UTdieh T AL 22.75 SR A for=er 1.25 7|
1) 60 2) 40 (3) 30 4) 20
12. Wi e & wwa €
(a) MR & 1 fow
(b) TEE fash™
(c) wmHIST foaehrd
) erfors fomm
(e) HecHe faehmd
Tl G J1d HITSTT :

(1) (@), (b), (0), (d) (2)  (9) (d), () (a)

B) (), (c) (d), (e) 4)  (e) (@) (b) (o)
13. TF=A ® guifod 7w 9 fefafed #9 § wRE €2

(a) SEIUH H TA (b) WAL

(c) WU qre (d) SEUw Tafy

frefafed %e 9 9@ ST 1 99 FIWT

1 () (d) 2)  (a), (d) B) (o) (d) 4) (@) (9
14. Tr=fafed § @ o arwg stfew wme =& 2

(a) Sl (b) & (c) =AM d) =d

() T (f) e

< :

M @@ @ OE@IMEO @) ©OF@ @ @ @R Ep
15. & TS g A & 3Teherd v Frefafad &1 3w foan S €

(a) VE-UE=d iR AR T (b) g g SR Frfor aifass

(c) AR HIHEIT TI& d) e

e W ST A TIT FIWC

1) (@) 3R (c) (2)  (b) &R (d) 3) () &R (b) (4)  (c) ¥R (d)

16. W& TR W fRA1 1 9 TR

(a) FERESS W TARANEA 1 GHE  (b) TR W 3TGLS hT HE

(c) =\ R RfET & guE (d) HHpE R foftem =1 gumE

%<

() () S (b) 2 (b)) () () () (4 (@ (@
17. afc ‘P’ faare! o1 U Ye¥A T i fehue™ § SiTuH 1 I B

(a) <& WYl 3q=Ax (B-P)C (b) Thice THl Tq=A X (C—P)B
(c) <& Tyl Tq=Bx (A—P)B (d) Tice THl gg=AX (P—B)C
T fIT MU e F TEEd | W fashew 9@ HIfT
1) (), () (2)  (b), (0) @) () (d) 4) (b), (d)
s [ RIREANN ;




18. Which of the following statements is false about multiple correlation ?

(a) It ranges from —1.00 to 1.00 (b) It ranges from 0 to 1.00 only

(c) Itranges form — o to + o (d) It ranges from —1.00 to 0 only

Codes :

1) (@), (b), (c) 2 (), (9) (d) 3) (@), () (@) 4) (@), (b), (d)

19. Arrange the following normative scales according to their range characteristics in order of
sequence :

(@) C-scale (b) Stanine (c) T-scale (d) Standard “Z” scale

Codes :

M @ ®) @) 2 © d@© @ @) (© @ @b @ (@, ®b) @)@

20. Bureaucratic structure as developed by ‘Max Weber’ is as follows :

(a) Top management (b) Middle management

(c)  Scientific management (d) Supervisory management

Find the correct code :

(1) (@), (b)and () (2) (b), (c)and (d) (3) (a) (b)and(d) (4) (a) (c)and (d)

21. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Providing some basic knowledge about the nervous system and its
functioning will enhance the capabilities of the learner to learn a motor
skill.

Reason (R) : Learning of motor skill will be more effective if the individual feets that
there is need to learn it.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A)is true and (R) is false

(4) (A)is false and (R) is true

22. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Nature invented play not merely for dispensing with surplus energy in the
child but as device for using that energy to prepare him for serious business
of life.

Reason (R) : Play has special importance in removing boredom and monotony resulting
in from the modern civilization.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A)is true and (R) is false

(4) (A) is false and (R) is true

gl T ; papern
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22.
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23. Given below are two statements, one is labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : Kinesthesia is the recognition of the location and rate of movement of the
parts of the body in relation to the other parts.

Reason (R) : Sensations are interpreted in the brain, but recognized as occurring in the
periphery.

In the context of the above two statements, which one of the following statements is

correct ?

(1) (A) is true, but (R) is not the correct explanation of (A)
(2)  (A) is true, but (R) is the correct explanation of (A)
(3)  (A) is true but (R) is false
(4) (A) is false but (R) is true
24. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : In certain stressful situations physiological response may be mainly either
sympathetic or parasympathetic or a combination of both.

Reason (R) : The therocolumber system is strongly stimulated by pain and unpleasant
excitement.

In the context of the above two statements, which one of the following statements is

correct ?

(1) (A) is true, and (R) is not the correct explanation of (A)
(2) (A)is true, and (R) is the correct explanation of (A)

(3) (A) is true and (R) is false

(4) (A)is false and (R) is true

25. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :
Assertion (A) : Tension is a mechanical interaction between an object and its surroundings.
Reason (R) : Shear is a tearing force directed parallel to a surface.

In the context of the above two statements, which of the following statements is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A)is true and (R) is false

(4) (A) is false and (R) is true

26. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Momentum of a particle is a measure of the time required for a constant
force to bring it to rest.

Reason (R) : Momentum that characterizes motion never changes in an isolated collection
of objects; that is, the total momentum of a system remains constant.

In the context of the above two statements, which one of the following statements is

correct ?

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3)  (A) is true and (R) is false

(4) (A)is false and (R) is true
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27. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : Central source of motivation in sport is to examine the personal dispositions
which are closely linked to high motivational state.
Reason (R) : Individuals with high ability to be motivated will not exhibit motivational
ability unless the environment is conducive for this to happen.
In the context of the above two statements, which one of the following is correct ?
(1) (A) is correct (R) is wrong
(2)  (A) is correct and (R) is not the correct explanation of (A)
(3) Both (A) and (R) are wrong
(4) (A) is wrong and (R) is correct
28. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : Sport that require little interaction among team members for success
exemplify co-active teams.
Reason (R) : Inter-group rivalry and inter-team competition exist in co-acting teams.
In the context of the above two statements, which one of the following is correct ?
(1) (A) is correct but (R) is not the correct explanation of (A)
(2) (A) and (R) both are wrong
(3) (A) is correct and (R) is the correct explanation of (A)
(4) (A) is wrong and (R) is correct
29. In which of the following years India didn’t participate in the commonwealth games ?
(a) 1934 (b) 1930 () 1950 (d) 1958
(e) 1962 (f) 1986
Codes :
M @@ @ @E G 0,00 @ ®) e 0
30. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : Hawthorne effect (Brown, 1954) produce better results.
Reason (R) : Participant’s performance changes when attention is paid to them.
In the context of the above two statements, which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false
(4) (A) is false, but (R) is true
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27.

28.

29.

30.
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= < e fgu M €, IS99 @ gom w1 ifeRe (A) 3R T HI @k (R) el TR

AR (A) : TR | AFTION 1 Fei i T fexash Tl it e AT § S o ATTIROMeHR
feafa @ sfea @ 92 €1

e (R) : s foeg s o e1fyes medam =afed qa a@ sifuiRomers amed =i
Tt & F4, S e o gfew T fhe s § e 1 9|

SR & deof § fefafad § wH-91 a7 w8t €2

(1) (A) T &, R (R) Tord &

2) (A) T E, 3R (R), (A) FT & T T T

(3) (A) 3R (R) T Teret €1

(4) (A) 7T © AR (R) ¥l |

= <1 Fwed fou mu g, fTH @ a1 IR e (A) 3R T HI ek (R) FEl T

AUFRYT (A) :  TWAFS Sk T THAT g T o TGl & d1d ATt STAATHAT i SATTTHhT
Bl §, F TERMEIHE Tl & ST | |

H’%“(R): meﬁmwmﬁmaﬁtmﬁﬂuﬁmﬁﬁ%l

SR % e o frefafaa § wi-a1 woq W@ ®2

1) (A) T E, 3R (R), (A) FT & TR T T

2) (A) 3R (R) I Terq B

3) (A) TR, 3R (R), (A) FT TE TELH T

(4) (A) 7T g AR (R) 9 B |

frefafea & @ foa oot & IRa 3wy 7= | e T&i &1 ot ?

(a) 1934 (b) 1930 () 1950 d) 1958

e) 1962 ) 1986

< :

1) (a), (d) (e) 2) (@) () (e) B) ®) () @) (b)) () @

= < e o3 T ¥, 50 @ vam 1 rfuerem (A) SR fgdta #i ek (R) Fe1 T T -

ARTRAT (A) : ‘T sHER’ (SIS, 1954) SEal TROMH Seq=1 Ll § |

e (R) : gt &1 froares afkafdd 2 8, 519 39 W e fean s

IR & Hedf o frfafad & SH-91 Fuq W@t 22

(1) (A) 3R (R) IHI T2 §, 3R (A) & (R) & == B

2) (A) R (R) A T €, R (A) F (R) T ==TEAT T T

(3) (A)FE ¢ SR (R) Ted €

4) (A) 7@ B, R (R) W 2|
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31. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : Quality of life is a composite measure of physical, mental and social well
being as perceived by each individual.
Reason (R) : Quality of life is difficult to define and even more difficult to measure.
In the context of the above two statements, which of the following statements is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A)is true and (R) is false
(4) (A)is false and (R) is true
32. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : Damage to the temporal lobe can result in psychological blindness.
Reason (R) : The temporal lobe forms and stores visual and verbal memory.
In the context of the above two statements, which one of the following is statements
correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3)  (A)is true and (R) is false
(4) (A)is false and (R) is true
33. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : A coach should plan uniform goals, means and methods for a training
session with an aim to teach the same skill uniformly to all the trainees.
Reason (R) : All the individuals are alike, thus the uniform teaching will prove effective
for all.
In the context of the above two statements, which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is the correct explanation of (A)
(3)  (A) is true, but (R) is false
(4) (A)is false, but (R) is true
34. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : Two-three days prior to menstrual cycle high intensity strength work may
cause high loads on the hips and lower back of female athletes.
Reason (R) : The sacro-illiac joint is highly stable at this point in the cycle and thus can
not be strained.
In the context of the above two statements, which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A)is true and (R) is false
(4) (A)is false and (R) is true
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31.

32.

33.

34.
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T < Fyd fed T ¥ S @ vem o atfieRea (A) iR fgdia 1 9k (R) F-1 TR

JMURYT (A) . SiTed i T[urE, IR, AFFAE 3R Amifse €9 § 96l g 61 99 7419 §, S
% g% =afea g1 Heg™ ®T oI €|

T (R) ST T TOTeT Rl TReod AT Hicd € IR I=l 7 T 3Hent orae ofR off wfe
gl

IR & Hedf o frfafas & @ w9 91 Fud W R 2

(1) (A) 3R (R) IHI T&T T, 3R (A) FT (R) F&l &A1 B |

2)  (A) 3R (R) S 9t ¥, g (A) T (R) T == T R

() (A) @I g 3R (R) o€ B |

(4) (A) T ¥, 3R (R) W T

T < e fed T € S 9 gem @ StfieRem (A) R fgdia 1 @k (R) Fel TR
ATURUT (A) : TR olid i &fd AAEAI Fema Se1 9= Fehdl

e (R) : TR e I Ud Ueh{d 3l §, gieTd e wfedsh Hqia |
IR & Feof § fFreafafed § 9@ #9 @1 o7 a8t 82

1) (A) 3R (R) IHI T &, T (A) F (R) T A T |

2) (A) 3R (R) S TE €, T (A) FT (R) Tt =8 T

(3) (A) & §, W (R) T T

(4) (A) T 8, W (R) eI 2|

2 1 e fed T ¥, fH @ v @ siflreme (A) SR fad #i deh (R) e T T -

afirerer (A) :  WiTeTss 1 T @eg, |ree e fafeat uw wftneror o= vq fefsa wt =g 5
YT & Ty TF Fft gfneronfer w1 ww € Fva I9E €9 9 fawmn S 95 |

e (R) : gt =afed Tk S B ©, 3Td: WA givieror gt & fay gemesedt gem|

ST & Heof o frefafaa § @ 9 o1 Fod W& 22

(1) (A) 3R (R) IH Tl €, T (A) T (R) T == T 7

2) (A) 3R (R) AT HE T, TG (A) F (R) T ATEA T |

() (A) ¥l €, T (R) TTod B |

(4) (A) 7 ¥, W (R) T R

T T e o3 T € o @ vem i ifueR e (A) TR fgdta &1 ek (R) Fa1 TR -

afirre (A) ;. TieH wsh | - T 7o 3= <fian aret vifea e s« Afgen faentedt &
frara e e & ot Tl W 3= YR o/ 9ahd 21

e (R) : T8 g0 Soni-3feras | 38 9 § 3Tcawa Tl Bt § 3R 39 fore 30 W e
THE el STl S Gehd |

freferied § 9 9 91 %Ue STe % Hed § |8 v ?

(1) (A) 3R (R) IHI &I T, 3R (A) T (R) F&l &A1 B |

2) (A) 3R (R) AT TE T, 3R (A) T (R) Tel =0 78 2 |

() (A) ¥l €, T (R) 7Tod B |

(4) (A) 7§, W (R) T R

p—
@

Paper-III



35. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Regression analysis provides estimates of values of the dependent variable
from values of the independent variable.

Reason (R) : In regression analysis the regression coefficients bxy and byx are symmetric.
Codes :

(1) Both (A) and (R) are true, and (R) is not the correct explanation of (A)

(2) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

36. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Non-sampling errors are usually more difficult to control and detect than
sampling errors.

Reason (R) : Non-sampling errors are errors that occur in acquiring, recording or
tabulating statistical data that cannot be ascribed to sampling error.

In the context of the above two statements, which one of the following is correct ?

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is the correct explanation of (A)

(3)  (A) is true, but (R) is false

(4) (A)is false, but (R) is true

37. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Water is a very good conductor of electricity and has a very low level of
resistance. Adipose tissue has a very low water content and thus has a
high level of impedance.

Reason (R) : Muscle has a very high water content and thus has a low level of impedance.
In the context of the above two statements, which of the following statements is correct ?
(1)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

s [{LHTHARR AN

Both (A) and (R) are true and (R) is the correct explanation of (A)
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35.

36.

37.
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T2 ) e fod T € o F vaw 0 tfueRed (A) @R fgdia = ek (R) Fel T R
USRI (A) . T fIeerav Tas =X & Yol § WA =X ok oAl 1 FTIAM TS hdl ¢ |
T (R) : gferTe fereeton § gfere sk b, R b, HHHG €

e :

(1) (A) 3R (R) IHT T ¥, 3R (A) T (R) Fel ==& 7 2|

(2) (A) 3R (R) AT T &, TR(A) T (R) el AT 7 |

3) (A) Wl ¥, W (R) T ¢ |

(4) (A) T 8, W (R) FEI B

T < e fed T €, fo @ gem w1 erfueR e (A) TR fgdta & ek (R) Fo1 TR -

afuene (A) : 1w v v o H wfaee erefaat @t stden R A styfeat s s
Hicd Bl & |

e (R) : R eIfgal o SIfgal € S SUSH id 9Hd, SAfeiEs Studn Hifeanta Tiwel &
RO % THa wfed 2t €, s ufaee ewyfs W sTRifya el it S wehd |

frfafed 9 =9 91 Y99 ST & gl 4 9@ § 2

(1) (A) 3R (R) IH Tl €, Tg (A) T (R) T =A@ T 7
(2) (A) ¥R (R) T T €, W (A) T (R) & AEA T |
(3) (A)WE & T (R) o T

(4) (A) 7@ 8, T (R) HE B

T < Fyd fod T € S 9 gem & e1fieRem (A) 3R fgdia &1 @eh (R) Fel TR

AURT (A) : ST, T 1 9ga oT=81 Ao ¢ 3R TR Jaie HIE &9 Bl g1 Tredrs
% H ST I HIE! HH A Bld1 § SR 36 TR 30 I T 1 fqandn gt 2 |

qeh (R) : TS H FHThT ST STl i A/ UTE STt § 3R 39 YR 399 H16! 15 TR 61
EIEICIRE RS IC

freferfed § @ ®F o1 SYe STed % Hed d |8t © 2

(1) (A) 3T (R) I W& &, 3R (A) T (R) Hell = €
2) (A) 3R (R) < TE €, 31 (A) T (R) Tl =0 el €1
(3) (A) ¥ 8 T (R) T &

(4) (A)7eHd 8, T (R) e B
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38.

39.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Fitness is that state which characterized the degree to which person is able
to function.

Reason (R) : Fitness is an individual matter implies the ability to live most effectively
with potential.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true and (R) is false

(4) (A)is false and (R) is true

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The organisation cannot work efficiently and progressively, if the career
advancement opportunities for the employees are blocked. Stagnation can
lead to frustration, disgust and low morale. However promotion should be
given to the deserving individuals.

Reason (R) : Low morale people are like a dead wood; they are liability for the organisation
rather than asset. All possible measures should be taken to keep the morale
high all the time.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(3) (A)is true and (R) is false

(4) (A)is false and (R) is true

40. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Under strategic management process, the strategic analysis is the process
by which sport enterprises survey external environment so as to understand
factors that may pose both opportunities and threats to the organisation.

Reason (R) : The external environment can be analysed from two interrelated
perspectives; the macro environment and the micro environment. The macro
environment analyses the broad external factors that includes political,
social, technological and legal etc.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true and (R) is false

(A) is false and (R) is true
H||H||\||||“||||||HHHIHIHHH i 1
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9 9 e A T € o0 @ wem 0 rfueRee (A) @R fgdta #1 @k (R) el T

ATURAT (A) : TR Ig ST § 11 AT & H1d LA 1 A09a1 & 39 (TR) 1 fafxa Far )

e (R) : WA T Safaass foma § o duremned & @y gaifs g & & SiH &1
e er=afifed gt €|

IR & Geof § fFrafafed § 9 9 91 a7 98t § 2

1) (A) 3R (R) T W&t T, 3R (A) FT (R) T == 2

2) (A) 3R (R) AT TE €, 3R (A) T (R) Tel =0 78 2 |

() (A) ¥l €, T (R) TTod B |

(4) (A) T T, T (R) HE T

= 1 e fed T ¥, 50 @ v @ iflreme (A) SR fgda #i ek (R) e T T -

AURT (A) : IS T HIST S&ATYE® TN ITUT €Y § H1d T8l T Fohdl, ARG FHHAMRAT g I
TR o AT ! TG L AT ST | TG | Fal, o1 T& 7aa | e
B Hehdl § | qUTY, Tt v st w1 < S = e

e (R) : FHY e dl A JRR STEH! HT T §; 9 §ied o fau dufd ® eTden
ST €1 T GHT HHee S @ WM 3g 9 Sua 3u faw S =nfew |

SR 31wl % Heof #, frefafaa § 4 o1 o s W@ 22

1) (A) 3R (R) T W&t T, 3R (A) FT (R) T == 2

2) (A) 3R (R) A W ¥, 3R (A) T (R) T =A@ T R

() (A) ¥l g, T (R) 7Tod B |

(4) (A) 7T € AR (R) §&I |

T 9 wod @ ™ € o0 @ gom 0 rfueRem (A) oIR fgdi #1 @k (R) el TR

APURAT (A) :  FEHIaw Feiem giwan & Aaia wrefifas favemo o=t gfwen © fS9s g
TAHS U Hafed 3T o1ed TRES w1 e FXd € qIfh WS & WA STl
3R TAi-SHI 1 TG FI ATet HRebT Hl T ST GF |

e (R) : TRl ARt 1 foweryvn < Sia:Hag TRyusdl geq IRee a9 g&q qRast § fwar s
THaT 1 Feq IRV AUH 8T FRHT BT [Iveavr war § frad aeifas,
TR, WENfiTeha qen ST, STfe sRes S € |

S 2 Al o G #, frefataa § 9 o 91 % wa 2 ?
1) (A) 3R (R) SH T €, R (A) T (R) W&l =0 B
(2) (A) ¥R (R) I & €, T (A) FT (R) T A T ¥
(3) (A) ¥ 8 T (R) T &

(4) (A) A § R (R) WL R
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41. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Rabindranath Tagore believed in complete freedom of every kind for the
educand, the freedom in intellect, decision, heart knowledge, action and
workship.

Reason (R) : To attain this freedom, the educand had to practice equanimity, harmony
and balance.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3)  (A) is true and (R) is false

(4) (A)is false and (R) is true

42. Arrange in sequence the Summer Olympics held in chronological order :

(a) Barcelona, Spain (b) Rome, Italy

()  Helsinki, Finland (d) Seoul, Korea

Codes :

M) @06 dO @ ©bd@ @ O @0 @ @ o) ae

43. Find the correct sequence of events given below :

(a) Stimulation of anterior pituitary

(b)  Stimulation of neuro secretory cells

(c) Release of Gonadotropic hormone

(d) Release of Gonadotropic releasing hormone

Codes :

M @0, @0 @ ©Oda©Q 6 @M o @ © @ b, d

44. Arrange the following factors (from most important to least important) that determine the
flight distance in long Jump.

(a) Take-off angle (b) Take-off height

(c) Take-off velocity (d) Air resistance

Codes :

1) OO 6@ @ 00a6Gd @ @O0 d @ © o) d

45. Assessment of personality based on theoretical models has undergone change with passage
of time. Arrange them in sequential order using the codes given below :

(a) Type theory (W. Sheldon)

(b)  Social learning theory (Bandura, Mc Clelland)

(c) 16 Personality factor (G. All part)

(d) Big five factors (Goldberg)

Codes :

1 @ © k), (@ 2 ©) @)@ @ @) (© )@ d @) b)@ ()@
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41. 9 < weA A e S @ gum i 1fieRe (A) 3R fgdia i deh (R) F21 T © ¢

AfUFRAT (A) ;o TR fnen & forw @t e 1 s | fava@ w9, sifgera, o,
2SI M, TR qen srfeierdn |

e (R) : T T 1 9T A & fore famneft it 84, godar aun Sqer # s agr §
AHIEAT

ST 31wl % ged #, frefafad § @ w9 W Fue 9l § 2

1) (A) 3R (R) T W&t §, 3R (A) FT (R) T == 2

2) (A) 3R (R) AT T T, 3R (A) T (R) el A1 78 ¢ |

(3) (A) W& T qA(R) TId B |

(4) (A) 7@ § T4l (R) TR S

42, ARl AR & S i FHIATHATIR G :

(a) SREEM, T (b) T, gt
(c) Tafg®i, ®HATS () foda, st
e :

1) (@), (b), (d), () (@) (9 () (d) @ @) (b)(d) @ () @) (@) ®) () @
43. = < i feafad =61 @@ w9 oA

(a) ST Ty U 1 e

(b)  df>eRt Enfard A aTelt SifvrkreT 1 g

(c) TSIy Bl 1 okl Bl

(d) TSRS g H Gt TTHA HT EE

e :

1) (d), (b), (@), () (2) (b)(d) @) () ) () () (), B @) () @) b) (d
44, % %3 H SAN H g FI ARG FH 91 FRE] A (FIH Ak FEEqul § FH TgEqul) % FH

T sFafeed I

(a) <H-IA® A (b) H-3ATE B2
(c) <H-AH dqIF (d) 9 gfeiy
e :

1) (©, () @), (d (2 ®) () (@ d G (@), ), d @) (© (@), (b)(d)
45. Hgifas Aiedl W IRa Al Ahed § 999 Siad & WY I A1 81 A fgu 7w Fd &

=TI H G S STohHe &Y § AT HitwT

(a) &Y fHgid (T, Weed)

(b) IS TR &1 fagia (Iy, T ®iie)
(c) 16 =Aferce R (Sl T qie)
(d) T wrEa heed (Tieesnt)

e :
1) @ (@ (®) ) (2
sl

a

(c

),
|

(b), (d), (), @)  B) (c) (b), (@), (d) (4) (®) (@) (d) ()
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46.

47.

48.

49.

50.

Identify correct descending order of vitamin C content in commonly consumed Indian food
stuff :

(1) Orange, Lime, Amla, Guava (2) Lime, Amla, Guava, Orange
(3) Amla, Guava, Lime, Orange (4) Guava, Amla, Lime, Orange

Find the correct combination of technique training in the III'4 phase of skill acquisition using
the codes given below :

(a) Development of motor abilities

(b)  Preliminary movement concept

(c) Practice under changed and difficult conditions

(d) Refining of movement concept

Codes :

™ ®), () @ 2) (@) () (d) ®) @, ®)© @4 (© @) @

Find the correct sequence in sampling process :
(a) Identify the sample frame

(b) Determine the sample size

(c)  Specify the sampling plan

(d) Specify the sampling method

(e) Specify the sampling unit

Codes :

(1) (@) (&) (d), (b), () (2)  (b), (c) (&), (d), (a)
() (© (), (@) (®) (e 4)  (d), (), (©) (@) (b)
Area under the normal curve distribution :

Distance from the Mean Ordinate Percentage of Total area
(@) 1.966 47.500%

(b) =16 68.72%

() =26 95.45%

(d) 2.56 49.379%

(e) =36 99.37%

(f) 1.56 43.319%
Find a correct combination according to code.

(1) (), (b), () and (e) () (b), ) (d) and (e)
(3) (© (d), (e) and (9 (4) (), © () and (5

In sports entrepreneurship, a business plan is an essential tool for the entrepreneur as it
provides fair mechanisms. Arrange these in sequential order, selecting the correct code.

(a) Communication (b)  Synthesis

(c) Analysis (d) Action

Codes :

D ®), (©) (d) (@) (2) (9, (b), (a), (d)
(3) (), (@) ®) (© 4) (@), (d) () (b)
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46. AR W WT THaW R @ geiedf | faerfiq ¢ &1 A & 9@ 9 9 Sed % § U
FIIT
(1) Hau, e, e, e (2) g, stfaen, THES, Haq
(3) 3ffae, A%, e, Haq (4) 3THES, e, e, Haq

47. = QU T %2 1 YA FIA L & T-0 o 111 =07 § qehefieh RIS 1 Wl HAS T4 hiTog
(a) TIfd arre o foremd
(b) IRfER TIfd SR
(c) <t g8 T8 wfcd uifeafaal § sreamg
(d) TG STAHROM T WEA
< :
1) (b), (), (d) ) (@), (0) (d) ®) (@), (b), (c) 4) (o) (d), (a)
48. AT USfd F1 W& %Y T :
(a) T % B H TEEH
(b) T % SRR ki G
(c) A F A I faRifieRa &
(d) T ggfd i foiftrRd &
(e) T TS ﬁ@lﬁ% Exgll
e :

1) (@) (), (d), (b), () ) (b), (9, (o), (d), ()
3) () (d), @), (b), () 4) (@) (@) () () (b)
49. 9T Ik fadqeu & T=viq & .
3a e | g YUl &3 1 gfaw
(a) 1.966 47.500%
(b) =16 68.72%
() =26 95.45%
(d) 2.56 49.379%
(e) =36 99.37%
(f) 1.56 43.319%
He h ATER Tet HASH U e
1) (), (b), (c) AR (e) ) (b), (c), (d) I (e)
3) (@ (), (e) AR (f) @ (@), (), (d) IR (D

50. T i SAHA H T HTHR ASH g0 & T Ae@rul e ¢ Sie1 i 7% 3t Tiiehl &1 gamar e |
TH WE % i Heg § ot %y | ey

(a) HIR (b) HEATT
(c) faersm CABRER!
e :

M ®),© (@ @ @) (©®) @) d @) (@)@ b @ @ @)@ b

s [[[LHTHIAED

ll n



51. Match List-I with List-II and select the correct option from the codes given below :
List-I List-II
(Olympic Games) (Marathon Distances)
(a) 1904 (i) 26 miles and 385 yards
(b) 1912 (ii) 26 miles and 990 yards
() 1920 (iii) 24 miles and 1500 yards
(d) 1924 (iv) 24 miles and 1725 yards
Codes :
(@ (b) () (d)
O (@) @) @) 0
@ ) ) @ 0
@) (v ) 0 G
@) ) @ @
52. Match List-I with List-II and select the correct option from the codes given below :
List-I List-II
(a) Surplus Energy Theory (i)  Aristotle
(b)  Anticipatory Theory (ii) Schiller and Spencer
() Recreational Theory (iii) Carl Groos
(d) Cathartic Theory (iv) Kames and G.T.W. Patrick
Codes :
(@ (b) () (d)
W) (W) ) @ 0
@ () @) O )
@) @ ) @) o
) ) @ 0 @)
53. Match List-I with List-II and select the correct option from the codes given below :
List-I List-II
(a) A phoshatide which play important role (i) ACTH
in oxidation of neutral fat
(b) Hormonal substance used in the treatment (ii) Cocaine
of diabetes
(c) Habit forming drug, used often (iii) Lecithin
by endurance athletes
(d) Pituitary hormone which (iv) Insulin
increases level of endogenous
cortico steroids in the blood
Codes :
(@ (b) () (d)
M O @) @ @)
@) ) 0 @) @)
@) () @) O )
@) ) ) @ 0
g 8 Fapeca




51. geEi-1 gei-11 9 gafad i@ 9o 9= @ ™ % 9 9@ s S

52.

53.

s |H||H||\|

-1 -1
( NerfoeR We ) (TRTeE )
(a) 1904 (i) 26 Hid qA1 385 TS
(b) 1912 (ii) 26 H A1 990 T
(c) 1920 (i) 24 "I &1 1500 T
(d) 1924 (iv) 24 "I 9911725 TS
%<
@ () (¢ (d)
1) @) (@v) () (1)
(2) (i) (v) (1) ()
() (v) (i) (1) (i)
(4) (i) @@ @Gv) @)
-1 =1 Geit-11 § Gafoaa HIf qen 9= o T F2 9 ¥ S| 6
TeEit-1 Tqeit-11
(a) fafier i fagia () ThHdEd
(b) gaTvE fagTa (ii) FRIOR qUT TR
(c) TARSHHS fagia (iti) A E
(d) fo=m fagi (iv) HAS qT I3 S5, Tl
e :

@@ (b) (9 (d)
(1) (D) (v) (@) ()
(2) @) (D) @) (@)
(3) (D) (D) (iv) ()
(4)

(i) @) (@) (i)

-1 &1 Geit-11 § gafea S qen 9 T Fe 9 98 S| A

qet-1 qEt-11

(a) T TRITHIIEE SiI e I81 & SATaRdTahTor | () THL.ATE.
T ol yfrent v 7|

(b) TH TH w1 ITAT HEHE & TR | (i) IR
BT

(c) STRA-3AEt I aTelt gan fTaet ST U SHEH (i) Ao
et Taerst #3d © |

(d) Treged TmlA St W@a H sy difew fieuse (iv) sgfed

1 A/ S <l S

@ ® © @
M 6 G 6@ @)
@ (i) () () @)
@ @

(iii) (ii)

N
w
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54. Match List-I with List-II and select the correct option from the codes given below :

List-1

(a) Salts of weak acids in the @)
blood meant to maintain uniform
hydrogen content

(b) Major cause of temperature rise in (if)
muscle

(c) State in a muscle which gives it a
quality of firmness

(iii)

List-I1
Reaction time

Muscle tone
Chemical buffers

Intensity of work

List-I1
Biaxial
Sternum
Saddle
Gliding
Uniaxial

List-1I
(Insertion)
Pea Anserinus
Lesser trochanter of the femur
Greater trochanter of the femur
Linea aspera of femur
Tibial tuberosity

(d) Time elapsing between moment of (iv)
response
Codes :
(@ (b) () (d)
O O ) @
@ () @) O G
@) @ O @) ()
@) G @ 0O )
55. Match List-I with List-II and select the correct option from the codes given below :
List-I
(a) Xiphoid process (i)
(b) Spine joint (ii)
(c) Hinge and pivot joint (iii)
(d) Condyloid and saddle joint (iv)
(e)  First carpo metacarpal joint (v
Codes :
@@ (b)) (o (d) (e
O @ @ v O
@ ) ) @ @) )
@ W O v G (i
@ v @ @ O
56. Match List-I with List-II and select the correct answer from the codes given below :
List-I
(Muscle)
(a) Adductor longus (i)
(b) Sartorious (ii)
(c) Iliopsoas (iif)
(d) Gluteus Medius (iv)
v)
Codes :
(@ (b) (o) (d)
O ) O @ G
@ ) () (@ )
@) O Gv) @) )
@ O ) (v G
g || 2
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54. E-1%H gei-11 § gafad His o %e 9 9@ 3T &1 999 ST

F!?“—I
(a) T H HHASIR 3TFA A9 S
T G BESIS i |1 9T T §

(b) TIEYS H qIHAN TG T & R
(c) HIEURl T oTeeen S 9 feer oAt §
(d) afdafsean & o s T9F o ST

@ b © @
) 0 ) ) ()
@ (v @) O G
) @) () ) (W)
@ G @ 0O W

gft-11
()  wfdfsean srafy

(i) wEUER qe
(iii) e gfdw
(iv) e e

55. e-1h! gei-11 § gafad w{ ok 7= fou 70§ 9 98t S &1 =21 a1

-1
RS EIEERIER
(b) Teg
d) wifedrgs iR dea g

(e) TSI HIUHIRTA SIS

@@ (b) (o (d) (e
L @) @Gv) (v @ (i)
(2) @) (v) (@) (v) (i)
() (@v) @O (v @) (i)
@) (v @) @@ @ @)

()
(i

(i)
(iv)

(v)

TqE-11
fgarefia
=R
Tsa
RGIMEY
Th AT

56. el-1%! Gei-11 § gafad ¢ oIk 7= fou U F0 4 9@t S &1 =21 a1

Tqel-1
(nmﬁvﬁ)
(a) UgTR ATH
(b) FERFE
(©) RN
(d) Tqfeaw dfead

A

(@ (b) () (d)
(iv) @ () (
(i) (i)  (
(i) ( ) (iii) Ei')

lll

AA/-\/-\
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~

J-4715
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9 TRiEw

A o1 W) X
TR &1 et TR
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57. Match List-I with List-II and select the correct option from the codes given below :
List-I List-II
(a) Cognitive Somatic (i) Partengton and shangi
Anxiety Inventory
(b) Team Psychology Questionnaire (ii) Smith, Schutz, Small and Placek
(c) Scale of Athletic Priorities (iii) Martens, Vealey and Burton
(d) Athletic Coping Skill Inventory (iv) Chelladurai, Inglis and Danylchuk
Codes :
(@ (b) () (d)
O (@) @) 0
@ ) O () G
@) (v () @) ()
@ O Gv) @
58. Match List-I with List-II and select the correct option from the codes given below :
List-I List-II
(a) Anxiety (i) A general physiological and psychological activation of
the organism
(b) Anger (ii) A substantial imbalance between physical and
psychological demand and response capability
(c) Stress (iii) Occurring in response to a demeaning offense against an
individual
(d) Arousal (iv) Emotional state with feelings of nervousness worry and
apprehension
Codes :
(@ (b) () (d)
O (v) @) @ 0
@ O @ @) @
@) @) (v 0 )
) @ O ) @
59. Match the terms of List-I with that of List-II and indicate perfect matching out of
(1), (2), (3), (4) below :
List-I List-11
(a) National Council for Teacher Education Act @i 1973
(b) National Council of Teachers Education (i) 1995
(c) National Council for Teacher Education (iif) 1986
as Autonomous Body
(d) National Policy on Education (iv) 1993
Codes :
(@ (b) () (d)
O G @) @) 0
@ ) O @ ()
3) (iii) () ) ()
(4) (i) () @)
T y




57. -1 gei-11 9 gafad Sifse o) 9= g T el 1 9o 8@ W@ foswes &1 ==0 S

qei-1 TqEt-11
(a) IfAfea drifes () Ifémed Te v

s =it
(b) T HIghIATST FALTETA (i) &Y, I, A TE T
(c) Thd 3% Toclfes JRIRES (iii) T, fodt T oA
(d) Tddfes FifuT fewma s (iv) <TAgE, Shaw Ue =
< :

@@ (b) (o) (d)
) () (D) () (@)
(2) (@) (@) o (v) (i)
) (v) () (D) ()
@4 @O (@) @) (i)
58. -1 Gei-11 § gafad ifve &R = iU T el 0t Femd § W& foaswed 1 =97 ST

Tqei-1 TqE-11
(a) gfe=a (i) a1 AR RIS SR TR S
(b) I (i) IR qe FACIAeR SIS SR STfhan &l & o
EEIEEGSE
(c) e (i) sl =afe o gfa e foam &t stomfer srafshan @ =feq
Ll
(d) vE geEd (iv) Ferge, Tadn o STRieht < wTel & T HeliTeHeh <M

A

(@ (b) (o (d)

(1) (v) () () ()
2 @ (@) @) (i)
@) @) (v) (@) (i)
4) @) (@@ (@v) (i)

59. -1 T&i Sl GeAI-11 o |1e Gafad wifsrg a9 = T 1T (1), (2), 3), 4) | 4 3w Sig &l
Hfea wifse |

HEit-1 Heit-11

(a) YA HIfGA B R TTHIA TR () 1973
(b) ATA HITHA AF TR TTHIA (i) 1995
(c) EME HITHA HI o) ULSHYA Wad THE & adR (i) 1986
(d) IS uiferdt 3T US[ehe (iv) 1993
%<

(@ (b) () (d)
i) (v) (i) ()

(1)
(2) (v) (1) () (i)
@ @ @ o

s |H||H||\H|||H||H||||\I\H\IHIIHI“IHII\
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60. Match the terms of List-I with that of List-II and indicate perfect matching out of
1), (2), (3), (4) below :

List-I List-II
(a) Central Advisory Board of (i) 1954

Physical Education and Recreation

(b) National Discipline Scheme (i) 1924
(c) First Inter-state Athletic Meet (iii) 1950
(d) Indian Olympic Association (iv) 1927
Codes :

(@ (b) (9 (d)
1 @) @ G )
2 @ @ @) (@)
() @) (@) @ ()
@ Gv) @ @) ()

61. Match the terms of List-I with that of List-II and indicate perfect matching out of
1), (2), (3), (4) below :

List-I List-II

(Vitamin) (Deficiency disease)
(a) Retinol (i)  Wernicke-Korsakoff syndrome
(b) Thiamine (ii)  Ariboflavinoss
() Riboflamin (i) Hyperkeratosis
(d) Pantothenic acid (iv) Paresthesia

(v)  Scurvy

Codes

(@ (b) () (d)
M O @) @ W
@ W) O @
@) (v) () @) @)
@ @ W 0O G

s [{LHTHARR AN 2 —




60. -1 T1 &I G-I o Y GAfad wifee aen = T T (1), (2), (3), (4) & 9 39 S &
gfed i |

Tet-1 TqE-11
(a) U2d VEankl o i frfswa i) 1954
US[hYH TUS hUQ
(b) A femsfam @ (i) 1924
() T 3 We Uercifes Hie (i) 1950
(d) sfem siaftus THIRTEA (iv) 1927
%<
@@ () (o) (d)
1) @) @ @) (i)
2 @O @ @) (iv)
G) @@ @) @O (@)
4) @(v) () (@) (i)

61. We-1% 91 &l Gell-11 & 919 GAfAd ST a1 = KT T (1), (2), (3), (4) ¥ € I9g= Sie &l

-1 TE-11

(Taerfa) (R | A ATt SR
(a) feAta (i) o Th-HREERIE fHgM
(b) @mEHEA (i) TRETRITATE
(c) TSI (ili) BERHEEE
d) F=afE s (iv) SR

(v) R

< :

@@ (b) (9 (d)
® @ @) @ (W
() @) @ G )
(3) (v) () @) (i
(4) (i)

(
il

-
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iv) () (i)

®
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62. Match the terms of List-I with that of List-II and indicate perfect matching out of
1), (2), (3), (4) below :

List-I List-1I
(Vitamin) (Deficiency disease)
(a) Biotin (i) Megaloblastic Anemia
(b)  Folic acid (if) Osteomalacia
(c)  Cholecalciferol (iii) Bleeding diathesis
(d) Phylloquinone (iv) Dermatitis

Codes :
(a) (P) (© (d

1) (@Gv) @) @) (i)

2) @ @) @) (iv)

(3) (@) @v) @) @

(4) @@ @) @O v)

63. Match List-I with List-II and select the correct option using the codes given below :

List-I List-I1

(a) Executing motor action (i) I Phase

(b) Finding a mental solution (i) IV Phase

(c) Perception and analysis of (iii) I Phase

competition situation

(d) Drawing conclusions and preserving (iv) II Phase
in memory

Codes :

@ B © @

1 Gv) @) @O )
(2) @) (@) @ ()
() G) (v) @) ()

@ @ @ @G) (@v)

64. Match List-I with List-II and select the correct answer from the codes given below :
List-I List-II

(a) Reaction ability (i)  Post-isometric method
(b)  Explosive strength (ii) Plyometric exercise

(c) Speed Endurance (iii) Sensory method

(d) Flexibility (iv) Intensive interval method

Codes :

@ ®) (o ()
@1 Gv) @@ @ ()
(2) @) @@ @D ()
(@) @) @@ @Gv) @
4 @ @) @) ()
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62. Get-1h Ta1 &I G-I o 1Y GAfad wifse e = T T (1), (2), (3), (4) & 9 39g= S &
gfed i |

-1 TEt-11
(faertiT) (HH | B 9T W)
(a) @mfeA () IR THITHA
(b) Twifas TS (i) AreAmarE
(c) HIAhRCHRIA (ili) T eEfafEd
(d) frafeRAH (iv) swfefeq
e :

@@ () (o (d)
) (v) () () (i)
) (@) @) (i) (iv)
) (i) (v) (1) ()
) (@) @) @) (i)
63. -1 Gei-11 § FAfad &itee iR = fu T el =t gema 9 9@ fawed a1 =997 Hif
-1 Heft-11

r—t»—-

(a) IR <1 fsham=rg () I=Rm

(b) wHEER Frem sifsa we (i) IV =

(c) faeast qRfeafa =1 sy T fowermo (iii)  III =0T

(d) TT=rd e 9o 39 SO0 # gUaE  (iv) IR
RECEIl

e :

@@ (b) (o) (d)
) (v) (D) @) (i)
) () (@) @) (
) () (iv) (D) ()
) @) @) (D) (i
64. -1 Gei-11 § FAfaq Fwifae iR = iU TC el =t Tema § 9@ S & =997 R
-1 Te-11

(a) wfdfshan & () U= emeHmfcw fafy
(b) foemres wifw (i) IEH{IR =M

(c) T wETefter (i) = fafy

(d) <= (iv) e e fafy
e :

@ ®) (© (@
) () (@) () G
) G) () (i) ()
) (iii) (ii) (iv) EI

11111
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65. Match the terms of List-I with that of List-II and indicate perfect matching of
1), (2), (3) (4) below :

List-I List-II

(a) Karl Pearson’s coefficient of skewness (i) Mean—Mode

Pl() + Pgo — 2Med.

(b) Bowley’s coefficient of skewness (ii) Pyy — Ppg
Q3 + Q1 - 2Med
(c) Kelly’s coefficient of skewness (iii) Qs - Q
) Mean — Mode
(d) Karl Pearson’s Absolute skewness (iv) Standard Deviation
Codes :
@ () (¢ (d)
1) (v) (@) () ()
) @@ (@ (@v) (i)
@) @ (@) () ()
(4) (v) (bD) (@) (@)

66. Match List-I with List-II and indicate your answer using the given codes :

List-I List-II
(Validity Type) (Description)

(a) Predictive Validity (i) Covering all the important areas in a
given course of study

(b) Content Validity (ii) Yielding theoretically consistent results

(c) Construct Validity (iii) High relationship between new test and
the established test of same trait

(d) Concurrent Validity (iv) Forecasting some significant behaviour
on the basis of test scores

Codes :

@@ (b) (9 (d)

1 @ G @ G

2 (@) @ @) ()

) @) (@v) @ (i)

(

(4) () (i)

ii)

—

i)

(
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65. Ge-1h Ta1 &l Fet-11 o q1Y GAfad wifee e = e T (1), (2), (3), (4) & 9 9= S &
gfed i

-1 Tqeit-11

(a) T foE= & J9= 1 UM () - aga®

Py + Pyy — 2 HIfeehT

(b) ST F TTE T ONH (ii)

Pyg — Py
. Q3 +Qq — 2 Hifegeh
(c) ohell o ATH HT U (i) 05— Q
() e T P A V) e
e :
@@ () (o) (d)
1) Gv) @) @) ()
2 @ @) Gv) (i)
@) @) @) () (iv)
(4)  (v) () (@) ()
66. -1 GEI-11 o G121 GafAd hifsrg a9 = T 1T Fe § 98 S I :
i1 Hei-11
( W= T TehTT ) ( feartur)
(a) wfo= ga& dr= () T TSU T S1eAa o UTSashH o T Hecaqui
&5l ! imfad ¥ g1
(b)  ST=ifcoEreR A= (i) g Sgifawra ffHfa gfom
(c) fafHa wr=ra (iii) TR T AV BT T W qA T S
o9 3= gaY
(d) FEe A (iv) i BIa & MUR WEH A =raer i
fersarof!
< :

@ b © @
NG @) () ()
2 (v () @) (i)
3) () (v) () (i
4 @) G (

i) (i) (i
s (NIRRT

(
(
(
(
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67. Match List-I with List-II and select the correct option from the codes given below :

List-I List-I1
(Skin fold Assessment) (Body Density Formula)
(a) Three-site formula (Female) (i)  1.089733 —0.0009245 (sum of three
(Triceps, suprailliac and thigh) skin folds) +0.0000025 (sum of three
skin folds)2—0.0000979 (age)
(b) Three-site formula (Female) (i) 1.099421-0.0009929 (sum of three
(triceps, suprailliac and abdominal) skin folds) +0.0000023 (sum of three
skin folds)?—0.0001392 (age)
() Three-site formula (Male) (iii) 1.10938 —0.0008267 (sum of three
(chest, abdomen and thigh) skin folds) +0.0000016 (sum of three
skin folds)2—0.0002574 (age)
(d) Three-site formula (Male) (iv) 1.1125025-0.0013125 (sum of three
(chest, triceps and subscapular) skin folds) +0.0000055 (sum of three
skin folds)2—0.000244 (age)
Codes :
@@ (b)) (o (d)
@ @ Gv) ()
(2) @) @Gv) @O @)
() Gv) (@) @) @)
4 G @@ 3§) (@)

68. Match List-I with List-II and select the correct option from the codes given below :

List-I List-11
(Exercise Zone) (Heart Beats per minute for 40 yrs male)
(@) VO, Max (i) 108 - 126
(b) Fat Burn (i) 144 - 162
() Anaerobic (iii) 162 - 180
(d) Aerobic (iv) 126 - 144

(v) 152-174
Codes :
@@ (b) (o) (d)
M ) @) @ 0
@ ) () @) 0
@) () ) 0
@i

@) Gi) @

D (i)

)
s [ {LHIFRNI
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67. G-I Tei-11 ¥ gafad w¢ IR A= fu U F 9 9@ I & 997 &Y

Heit-1
(e wies 3nisherd )
(a) T-woria wrfen (afean) (i)
(2TEHY, GUEeds 3T oré)

(b) T3-Teria wren (afeem) (ii)
(2Te8H, GIEeds 3R 3549)

(c) vt wren (gEw) (iii)
(BT, 3T AR 5T)

(d) TF-weorra s (7)) (iv)
(BT, 2RI R HIEHIER)

e :
(@ ®) (o ()

qeit-11

( IR T | )
1.089733 —0.0009245 (H A ®ies HI
M) +0.0000025 (FH ThHIA ®IeS! o1
ANT)2 - 0.0000979 (3T1)
1.099421 — 0.0009929 (= R ®ice!
1 AN) +0.0000023 (1 TRA HITSl H
ANT)2-0.0001392 (3T1)
1.10938 — 0.0008267 (H ThA HIcS! H
AT) +0.0000016 (T ThiA HITS! 1
ANT)2 - 0.0002574 (3T1)
1.1125025 — 0.0013125 (9 A ®icel
T AM) +0.0000055 (T ThiA RicS! hl
ANT)2—0.000244 (1)

@ @ @) @v) (i)
(2) @) @Gv) @ (i)
®) (v) (@) @) (@)
4) @) (@@ @) ()
68. Fe-1%h! eil-11 ¥ Fafad w{ IR F= U U Ff 9 W& I &1 =997 &Y -
Heit-1 Heit-11
(=™ &) (40 8 =T A’ ATA G&W & fere ufa fime g wif)
(@) VO, Max (i) 108 - 126
(b) e = (i) 144 - 162
(c) TARIfa® (iii) 162 - 180
d) Tfa=w (iv) 126 - 144
v) 152 - 174

(@ ®) (o (
1 () @) (@) (
2) (v (@v) @0 @
(3) (i) @D @ (
@) @ @) (iv)

s |H||H||\| [HIATETN .
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69. Match List-I with List-II and select the correct option using the codes given below :

List-I List-II

(a) Self actualization Needs (i)  Shelter
(b) Esteem Needs (i) Work group
(c) Social Needs (iii) Prestige
(d) Physiological Needs (iv) Desire
Codes :

(@ (b) (o) (d)
M G @ @) @)
@ () O ) ()
@) @) (v 0 )
@ (v @) @ 0

70. Match List-I with List-II and select the correct option from the codes given below :
List-I List-II

(a) Physical Barriers (i) Superior
(b) Personal Barriers (ii) Sense
(c) Language Barriers (iii) Distance
(d) Status Barriers (iv) Difference
Codes :

(@ (b) (o) (d)
M @ @ @) @)
@ G @) @ 0
@) G ) @ @)
@) @) O @) @)
Read the following information and answer five questions that follow :

A researcher wanted to test the hypothesis that a given drug would adversely affect
the rate of learning. A group of 40 subjects were employed in the research. Each subject was
required to learn a task upto two errorless trials. Then each subject was given a specified
drug dosage (1 mg/body weight in kg.) and thirty minutes after, the subject was required to
learn another equated learning task upto two errorless trials. The number of trials required
to learn each task followed a normal distribution. The mean number of trials required to
learn the task were 24 and 20 only for normal and ‘drugged conditions” respectively. The
two conditions had comparable standard deviations. The mean difference was tested by a
suitable statistical test and the difference was found to be significant at 0.01 level.

71. What can you conclude about the researcher’s Hypothesis ?
(1) The Hypothesis has been rejected
(2) The Hypothesis has been verified
(3) The data are inadequate to evaluate researcher’s hypothesis
(4) The hypothesis has been partially verified
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e :
@@ (b)) (o) (d)
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() @@ (@) (v) (i)
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T gl TRehed 1 THaren T 9rd ¢ 6 9 e ved dhen # fd w ufaga
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72. What statistical test appears to be suitable for evaluating mean differences ?

(1) One-way ANOVA for independent groups

(2) Chi-square test
(3) Independent samples t-test
(4) Paired samples t-test
73. The dependent variable in this experiment is :

(1) Drug dosage

(2) Trials required to learn the task

(3) Body weight

(4) Time interval between the drug administration and learning the second task
74. What type of study it is ?

(1) Single-blind

(2) Double-blind

(3)  Triple-blind

(4) None of the above
75. The above information suggests that :

(a) Non-parametric model should be followed in data analysis

(b) Parametric model should be followed in data analysis

() The scores under two conditions appear to have homogeneity of variance

(d) The scores under two conditions appear to be heterogeneous for variance

Codes :

(1) (a)and (d) only (2) (a)and (b) only (3) (b)and (c) only (4) (b)and (d) only
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72.

73.

74.

75.
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I FifTH eI SUFF HTed oAk ¢ ?

(1) Tda Fg&! % foIT T T ANOVA Bl
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(3) A THA A.-THT (T-test)
)

(4) I T A -G (T-test)
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(3) TR ¥R
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